Problem:  The proof of Cauchy’s Integral Formula is by induction.  The proof is outlined below, with the exception of the proof of the “base case” for n=1.  Follow the example in the “n+1” step to prove the base case.
First of all, we can use the following result:
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Given: 
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Base Case:  
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     ***THIS IS WHAT I NEED TO PROVE***

In other words, show that:  
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Assume:    
[image: image6.wmf]()

1

!()

()

2()

k

k

C

kfd

fz

iz

zz

pz

+

=

-

ò

Ñ


Show: 
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In other words, show that:  
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Given 
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Now, when 
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Now, set length of C=l, 
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Set max 
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Using result at beginning of proof:

(2)= 
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